20215 A S CAREMKX Y Z 7 xtbukiksiii K&
235 FHHHIEAK 7 —/L (50m)

WA :20214E4H4H (H)

1/2

N2<.5;1P:%1%¢5(>)>m BikE BALL—R R
%
BfL. K 4 i B 2E KE B fE
1 EHEE' %ﬁ J]SS—& Hr1 2/ 5 36.29 5k
) %\@y BE BIGT=S ] 2/ 4 36. 64 5%
3fA i KLPF&AE  H1 1/ 3 38.47 3%
4 ﬁﬁ BE t‘%is S ==h] 2/ 1 38.96 3k
5 f%# AR EfF= S C Ml 2/ 2 39.22 3k
6 {%’% A I:”)L/(OS S Ml 1/ 6 39.47 21%
T A VEETNMEL T 1T 41.58 Libk
8 M TN EfFE S C Ml 1/ 2 44. 48
N2<.5;1P§2¥¢5g>m BikE B2 A LL—RRE
%
IBfL. KK 4 ‘ i B 2E KE BF E
1 E% ﬁ/ﬂ\iﬁ 4 8kS SHEBE 2 3/ 6 33.28 6%
2 L5 %—:jg ﬁé‘d‘x‘si 12 2/ 3 35.38 4%
3 UJfE 55;@ J S S5FIL 12 3/ 1 36.97 3k
4 Em Fyp *JEi:EBS S H12 1/ 4 37.62 25%
5 Kfial 1&1h Y A4SS M2 2/ 6 37.63 27%
6%&K % V rET—5  H2 3/ 8 38.02
7 E'ZE E;a K L&ERH H2 1/ 5 38. 26
8 AHr BHK J S S5FI 12 2/ 7 38.29 25%
N2<.5;1P§3¥¢5gn BikE 2 A LL—R R
%
Bf. KK 4 ir B 2E KE B E
I N i1 VEET—E 3 4/ 7 31.24 7%
2 i)?u@ ;% HERER S S 13 4/ 1 32.02 6%
3 /j(wf:jmfﬂr 7\‘/53 NET H3 3/ 5 33.12 5k
4 TR BEF% EfFE= S C M3 3/ 3 33.24 5%
5 1 Fiak @LE%EI# H13 3/ 2 35. 11 3tk
6 M Hx GRS S 13 3/ 7 36. 62 25%
Ncé<.5i_§1¥$5(>);n BikE B A LL—RREG
=11
B K 4 T & BE KB BF fE
L)l AL %fﬁ%sos%)% il 4/ 3 29. 37 Tk
Zr%% HER 'VFE?:E’ il 4/ 8 31.73 5k
3 iy B J] SS—& =1 3/ 4 33. 31 A%
Nc%Si_?;ESgn ke B A LL—R R
=11
JIE {3z Ej £ ir B 2E KE B
1 3 MY SAZFERE &2 4/ 5 29. 89 Tk
N2<.5i_1§;£,3%¢5(>);n BikE A LL—RREE
=11
[[=§iva EE.;E Fr & BE KB BF fE
1 ﬁgEEE-. i%/?l;ﬁ\ VT = &3 4/ 2 31.23 5%
OPN 35 N BLNRIEFE &3 4/ 6 29.79 6
Nc%S;:%;ljS;n BikE B A LL—RRIEG
%
Bh. K 4 ir B 2E KE B
HAOBEKE:  4H4H 18:03



20214E A S CAREMKX Y T 7 xthikikiii Ka

2/2
HIH : 20214E4 H4H (H) 28 FHIHIEAK T —1 (50m)
No.54 ¥ 50m #FHik= A LL—R R
L KEXELDE >
EGI K& 4 & FE KK B e
OPN H FH#E it HEKERS S K4 4/ 4 27.05 8k
HAOBEKE:  4H4H 18:03



